R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, FL-14163.2

| J. Sussman, Inc.

109-10 180th St. Jamaica, NY 11433

Since 1906

6400 Series
EXTRUDED THERMALLY BROKEN
FIXED ALUMINUM WINDOW
"IMPACT"
GENERAL NOTES

1. This product has been evaluated and is in compliance with the 2007 Florida
Building Code (FBC) structural requirements excluding the "High Velocity
Humicane Zone" (HVHZ).

2. Product anchors shall be as listed and spaced as shown on details. Anchor
embedment fo base material shall be beyond wall dressing or stucco.

3. When used in areas requiring wind borne debris protection this product
complies with Section 1609.1.2 of the FBC and does not require an impact
resistant covering. This product meets missile level "D" and includes Wind Zone 4
as defined in ASTM E1996.

4. For 2xstud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

5. Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS
SHEET# | DESCRIPTION
1 Typical elevation, general notes and design pressures
2 Vertical cross section
3 Buck anchoring
4 Frame anchoring
5 Bill of materials, glazing detail and components

60.0" MAX,
FRAME HEIGHT

—_—
— ==

56.5" MAX
D.L.O. HEIGHT

R |

56.5" MAX,
D.L.O. HEIGHT

%hq }3‘

60.0" MAX
FRAME HEIGHT

————
g

|

Li 95.5" MAX. D.L.O. WIDTH —»'

99.0" MAX. FRAME WIDTH
HALF-ROUND

' —_—
e ]

60.0" MAX
FRAME HEIGHT

I—

55.5" MAX
.L.O. HEIGHT

L‘i 91.58" MAX. D.L.O. WIDTH L*‘
99.0" MAX. FRAME WIDTH

TRIANGULAR

o

HALF-ROUND | 99.0" X 60.0"| 95.5" X 54.5" | G1, G2

TRIANGULAR | 99.0" X 60.0"|91.58" X 55.5" | G1, G2 +65.0 - 65.0
ROUND 60.0" DIA. 56.5" DIA. G1, G2 +465.0 - 65.0

Documents Prepared By:

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Certificate Of Authorizati No. 9813
‘2 W e

Florida Board of Professional Engineers

Ry

Schmidt, P.E. No. 43409

Lyndon F.

—awn
L
= =
&) >
== (] =ZW0
== rus!
= oL
2 oc
= -0
< W =
=2 |. S=
25 |3 =3
w = El-u
o o a0
=9 0l L
R
= o )
3 Sl g
o - tO
el 187>
o o
p
[a)
)
=z
o
(%2}
o
L)
<
o
o
z
oaTE: 10/18/10
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—14163.2

SHEET 1 oF 5

© 2010 R.W. BUILDING CONSULTANTS INC.



- 1600\PF 1572\D. RWBC Drawings\Fi-14163.dwg, 2.2

R:AA - Projects\Project Folders\proj 1501

1-1/4° MIN,
EMB. (TYP.}

N aa

T

|

813.659.9197

Florida Board of Prefessional Engineers

Certificote Of Authorizotion No. 9813

5/’";32 Ctleri oy

P.0O. Box 230 Vairico FL. 33585
Lyndon F. Schmidi, P.E. No. 43409

BUILDING CONSULTANTS, INC,

° Z
£ e
o [V}
L §
[
DETAIL 1 E @
Cormner Construction 8
]
=
OPTIONAL STAINED =E
a— GLASS WINDOW z 5
——— SEE DETALLI =0 =
2t |, 25
. 2 &)
HALF-ROUND EXTERIOR INTERIOR R § %m
<+ g 8:3
e
("1 "\ VERTICAL CROSS SECTION . < ©
\y 2% Buck Construction 2 =
8 e
Zo & &
Se
TR, >
/ A P q di_\g
N ( . i
T4 . B n e 05
Z
Q
21 :
ROUND
o @
é
TRIANGULAR SEE NOTE | o L
}._.
NOTES: i1 3
. Glozing siop secured to frame
with item #8 and #12 spaced 12" O.C. throughout. SEENOTE3(17 3 _ OPTONAL STAINED g
. Anchor strap secured fo frame with item 5 as follows: 13 G2 GLASS WINDOW oRTE 10./18/10
Trigngutar & Half-round : one per strap oM.
Round: twao per strap ©N.TS
. Glazing stop cover secured to glazing stop with item #17 DWG. BY:  JK
on curved glazing as follows: m X(Eémféi iRO;$S SECTION CHK. BY: LFS
Haft-round: 32" O.C. W uck Lonsiruction DRAWING NO.:
Round: 16" Q.C. Fl-14163.2
SHEET _2 oF &

€ 2070 H.W. BUILDING CONSULTANTS ING.



R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWBC Drawings\FL-14163.dwg, 3.2

d e E
(ﬂi’) —— {ijl) _j o &
i i
I R I N ==
N %
(e, N -y
8| N N AN N NN N S N L{

CONCRETE ANCHOR NOTES:

1. Subsfifution of equal concrete anchors from a different supplier may have different edge disfance and center distance requiremenis.
2. Concrete anchor locations af the corners maoy be adjusted to maintain the min. edge distance fo mortar joints. Concrete anchor locations noted
as "MAX. ON CENTER" must be adjusted fo mainfain the min. edge distance to mortar joints, additional concrete anchors may be required fo

A 12" MAX \
O.C.[TYP.)

BUCK ANCHORING
Z2X Buck

ensure the "MAX. ON CENTER" dimension are nof exceeded.
3. Concrete anchor fable:

ANCHOR[ANCHOR |~ MIN. [ MIN, CLEARANCETO | MIN. CIEARANCETO
- TYPE. | SIE. | EMBEDMENT |  MASONRY EDGE - | ADJAGENT ANCHOR -
W /& i-1/4" 21/ ¥
ELCO 1/4° -4 [ &

14" MAX

O.C.TYP.) - : &
’"“" G
o
>
{ L—

i
I
-l j
- ||—r
NS R .
A _
M- || 2
AN = =
NI
) ©

12" MAX

O.C.{TYP.)

BUCK ANCHORING
ZX Buck

&

BUCK ANCHORING

2X Buck

4.
(TYP.)

— B

8..
(TYP)

8 o g
.8 8»‘)&#-
Cw Lo 2
= HE W
= o oy
O, 0
fQ E_O 4
Z8q 22 14
hs o ?
HES 25 W o
2>m 85 .
2 2 SRU4
. BRW 2% =
O o £
[13) (5 .= £
'D%ozo{ n
Eamﬂﬁu- ™
g 3 .t =0
B =50 9
g 2L 0qg g
g oanayg 2
g b c
2 gvm >
T £ P
[ S
P o8
=
3]
[s]
&
=
O
O Q
= Z
=
2, | 2
= Wl Oc
& S
28 13
»nY g =
. 19 =
. O m
S g ©
< 8
= o
3]
:8 [}
2 g
o a
>_
[nn]
0
z
Q
0
o
o
=T
fam}
o
Il
oate: 10/18/10

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—14163.2

SHEET 3 oF 5




R:\A - Projects\Project Folders\proj 1501 - 1600\PF 1572\D. RWEC Drawings\FL-14163.dwg, 4.2

44" .:__.ﬂ":.l-“v"._“" L 2].75“

. ) o . -4 |rocmit——— {TYP) — ]

FRAME ANCHORING

2X Buck

2X FRAMING TO BE DESIGNED BY
THE ENGINEER OR ARCHITECT OF
RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED.

2X FRAMING TO BE DESIGNED BY
THE ENGINEER OR ARCHITECT OF

—— RECORD BASED ON WIND LOADS
AND THE CLADDING BEING USED.

FRAME ANCHORING
72X Buck

s
= (YR H"

L Py

FRAME ANCHORING

2X Buck

[iy] 0 ®
P
Y] &
OQm £z 2
z =
= gk e@ .
.dgm [*]
go"’-ﬁzo =
€89 ¢ L
LTI OF -
4 0€ B8 L.
23k 8E .
Qor-end g
. 88° E5NE
LA TN
o o, BNy 5
- 282 %< «
Eamﬁ’-cuu L
UJ_CI.O
D.-—oOU e
ED..coq, s
&mn.n_m-aé .g
s gL S
[ C i
o] [T
fR o8
p
(3]
o
fa}
=
o
(SR
= =
= &)
$o | E
= L S
Lm’)nc I
S I FU RS
AV Ia =
< ol <
- S 2| 1
I o =
n =
<|
.- L
5 14
= s}
2 &
a o
>
m
n
=
©
v
o
B
<t
e
O
=z
oaTE: 10/18/10
SCALE: N.T.S.
bW, BY: JK
CHK, BY: LFS
DRAWING NO.:
FL—14163.2

SHEET 4 oF 5

@ 20710 R.W. BUltDING DONSULTANTS IME.



R:\A - Projects\Project Folders\proj 1501 - $630\PF 157 2\D. RWBC Drawings\FL-14163.dwg, 5.2

0.1" —=

A——_—_—FE

BILL OF MATERIALS
- 4 o i s TEM £ DESCRIPTION MATERIAL 9 e 9 o
oo 1 3] i S
ST s 0% A__ | IXBUCKSG >= 0.55 WOOD g8 Spdg
1 : T B |2XBUCKSG >=0.55 WOOD T L R
e f | ﬁ%]« 0.07" C | 3/32" MAX. SHIM SPACE - i
| | i r D [1/4 X2-3/4"ELCO OR MW CONCRETE SCREW STEEL £ N u
| | o £ | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE p-2 8% ) .
D L 1 . GLAZING STOP 301 OR HOLLOW BLOCK CONFORMING TO ASTM C90 lx 8RT £ QLE
T Y i F__[3/16 X2-1/4 TW CONCRETE SCREW STEEL 5 238538
? [ " e EDOp v o "
e 0.83" : G 3/‘;6 X ]”]/2 ﬂ—w CONCRETE SCREW STEEL g_ 3 . g ‘a Q C
N S 1108 = 1| FRAME [9/16' Glazing) ALUM/G0E3TS £3888: 3
% 2 H 0.09" 2 |FRAME (1-5/16 Glazing] ALUM/6063-T5 : g 5
I © 4 | CORNERKEY ALUM/043-T5 PR 8
O i % 5 | #10 X 3/8" PPH MACHINE SCREW S8
6 | ANCHOR STRAP (4" X 41777 ALUM/6043T6 °
} 13 féﬁi{?ﬁ;ﬂop 7 14X 1-1/2 HWH SMS STEEL < -
e 9 8 | #8 X 3/4" PPH SELF TAPPING SCREW ss s 8 20
ANCHOR STRAP 9 #8 X 5/8" PPH SELF TAPPING SCREW SS =g S5
11 | GLAZING STOP COVER ALUM/6063-T5 z ., °5
12| #8 X 5/8" PPH MACHINE SCREW 5§ 5x | 23
13 | GLAZING STOP {1-5/16" GLAZING) ALUM/6063-T5 2 @ A
0 . 14 | GLAZING STOP (9/16" GLAIING) ALUM/6063-T5 =8 I3 =2
S 2 15 | GLAZING STOP [INTERIOR STAINED GLASS] ALUM/60463-T5 3 18 o
! & =" 17 | #8 X 1"PPH SELF TAPPING SCREW ss e o TF
& ] A 21 | DOW 995 SILICONE 2 o| 29
=005 0.06" «—ﬂ-ﬂ» 22 | BACKING ROD FOAM & 5
T fe—— 087" T .
CONTINUOUS HEEL BEAD
18 ?Mz:ws STOP @ GLAZING STOP COVER e DOW CORNING 995
nterior Stained Ghass \
\ 172" GLASS BITE
CONTINUOUS HEEL BEAD —POLYSHIM GLAZING TAPE
DOW CORNING 995 . Y
F 1-5/16" THK. GLASS = 3.5 5
%
= W/Z'CLASSBITE - | 1/4° HEAT STRENGTHENED 3
POLYSHIM GLAZING TAPE % 075" VANCEVA PVR
/16" THKGLASS INTERLAYER BY SOLUTIA
/-1 /4" HEAT STRENGTHENED :;;\1 /4" HEAT STRENGTHENED
075" VANCEVA PVB S
e INTERLAYER BY SOLUTIA \A'R SPACE =
~ /4" HEAT STRENGTHENED \”4“ EMPERED :
T - GLAZING SPACER S
< =
\ CAPBEADDOWCORNNG 995 G|l - CAP BEAD DOW CORNING 995 DATE: TO/IJ ?/S 10
., SCALE: IS,
: ¥4” SILICONE COMPATIBLE SHiM V' SILICONE COMPATIBLE SHIM 013" —) | WG, BY: %
CHK. BY: LFS
GLAZING DETAIL S 2 PRAVING Mo
@ GLAZING DETAIL f ngeming FL—14163.2
. SHEET _35_ OF_3,

© 2010 R.W. BUILDING CONSULTANTS (NG,



